BJ10 A EEE R A (TRAER)

| 1 S
an
R\m Ot

imAo
K, BIR O TRABER | M mige
SCM440
;S;i,"g‘,jf KRB S45C SCM435
/@’z:m:f%ﬁﬁ MENX=SE | REXZHE | DENZHRE
- BEREGUETR)

(%]
I
N
#7 | B S| S W | Hi | Lt L2 L A B Hs | Ha | Ls d
- BJ102-12022T| 12 | 35 | 29 |65 | 265 | 105 | 14 | 22 8 | 16 | 48 | 20
™ 1BJ102-16030T| 14 | 40 | 38 [895|30 | 137 | 18 | 28 | 10 | 20 | 55 | 26
e BJ102-12122T| 12 | 35 | 29 |65 | 265 | 105 | 14 | 22 8 | 16 | 48 | 20
BJ102-16130T| 14 | 40 | 38 |895|30 | 137 | 18 | 28 | 10 | 20 | 55 | 26
= RES | FEREHE | RE
| ]
2 S i Wo | H | He ) Wil 2 ivm) | ()
£ BJ102-12022T|M12x1.75-35L| 10 | 22 | 24 6 7.4 19 610
BJ102-16030T|M16x2 -45L| 14 | 30 | 33 8 11.7 32 1310
TE BJ102-12122T|M12x1.75-35L| 10 | 22 | 24 6 74 19 620
BJ102-16130T|M16x2 -45L| 14 | 30 | 33 8 11.7 32 1320

BIEIZe (288P.329)



